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: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



India’ growth can't be built on Chinese efficiency: Jaishankar

New Delhi: Indian growth cannot be built on Chinese efficiency. external affairs minister 8. Jaishankar said on
Wednesday. and backed building robust domestic vendor chains for the manufacturing sector.

"I think we should stop looking for a China fix. If we are really to sustain and take the economy to a different
level we have to create a kind of domestic vendor chain that a serious manufacturing economy will do."
Jaishankar said at the launch of the book 'Made in India: 75 Years of Business and Enterprise’ authored by
India's G20 Sherpa Amitabh Kant. The production-linked incentive scheme (PLI) is an effort to raise
manufacturing capabilities in the country. he said.

The external affairs mimister said India needs to get its focus back on manufacturing to take advantage in the
post-pandemic world. "There 1s no major country in the world which has sustained or enhanced its global
position without some commensurate build up of manufacturing. I have always believed that this focus on
services was actually an elegant excuse for being incompetent in manufacturing” said Jaishankar.

The ministers said the country will have to think through its growth strategy and domestic solutions against the
backdrop of the global challenges and cited the Covid experience and the strategy adopted to deal with it.

"In the name of opening the economy and globalising we should not end up de-industrialising this country. We
should not allow level playing field in this country for others to subside their rich. That's economic suicide. We

need to be clear that every country must support its manufacturers. must support its businesses. We mustn't
allow other businesses enjoy advantages in our country at the expense of others." said Jaishankar.

He also said there 1s a need to look at the economy from a strategic lens and identify the right partners. "I see
"Make 1n India’ not as a manufacturing programme. I see it as a strategic statement." he added.

Sub questions

Question Number : 1 Question Id : 68634011245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the term 'Commensurate’ 1s:

1. Start

[

. Commeon

L]

. Corresponding in size
4. Comment

Options :

68634044401. 1
68634044402. 2
68634044403. 3
68634044404. 4

Question Number : 2 Question Id : 68634011246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the purpose of Production - Linked incentive Scheme (PLI)?

1. to raise exort capabilities of the country

[

. to raise manufacturing capabilities in the country
3. to raise income capabilities of the citizens
4. to raise import capabilities of the country

Options :

68634044405. 1
68634044406. 2
68634044407. 3
68634044408. 4

Question Number : 3 Question Id : 68634011247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the external affairs minister India need to get its focus back on to take advantage in
the post pandemic world?

1. Export

2. Import

3. Per capital income
4. Manufacturing

Options :

68634044409. 1
68634044410. 2
68634044411. 3
68634044412. 4

Question Number : 4 Question Id : 68634011248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In the name of opening the economy and globalising we should end up de-industrialising this
country.

Statement IT: We should not allow level playing field in this country.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634044413. 1
68634044414. 2

68634044415. 3
68634044416. 4

Question Number : 5 Question Id : 68634011249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Antonym of the word Robust’

1. Strong and healthy

2

. Weak and unhealthy
3. Restart

4. Remove

Options :

68634044417. 1
68634044418. 2
68634044419. 3
68634044420. 4

Question Id : 68634011244 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



India’ growth can't be built on Chinese efficiency: Jaishankar

New Delhi: Indian growth cannot be built on Chinese efficiency. external affairs minister 8. Jaishankar said on
Wednesday. and backed building robust domestic vendor chains for the manufacturing sector.

"I think we should stop looking for a China fix. If we are really to sustain and take the economy to a different
level we have to create a kind of domestic vendor chain that a serious manufacturing economy will do."
Jaishankar said at the launch of the book 'Made in India: 75 Years of Business and Enterprise’ authored by
India's G20 Sherpa Amitabh Kant. The production-linked incentive scheme (PLI) is an effort to raise
manufacturing capabilities in the country. he said.

The external affairs mimister said India needs to get its focus back on manufacturing to take advantage in the
post-pandemic world. "There 1s no major country in the world which has sustained or enhanced its global
position without some commensurate build up of manufacturing. I have always believed that this focus on
services was actually an elegant excuse for being incompetent in manufacturing” said Jaishankar.

The ministers said the country will have to think through its growth strategy and domestic solutions against the
backdrop of the global challenges and cited the Covid experience and the strategy adopted to deal with it.

"In the name of opening the economy and globalising we should not end up de-industrialising this country. We
should not allow level playing field in this country for others to subside their rich. That's economic suicide. We

need to be clear that every country must support its manufacturers. must support its businesses. We mustn't
allow other businesses enjoy advantages in our country at the expense of others." said Jaishankar.

He also said there 1s a need to look at the economy from a strategic lens and identify the right partners. "I see
"Make 1n India’ not as a manufacturing programme. I see it as a strategic statement." he added.

Sub questions

Question Number : 1 Question Id : 68634011245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the term 'Commensurate’ 1s:

1. Start

[

. Commeon

L]

. Corresponding in size
4. Comment

Options :

68634044401. 1
68634044402. 2
68634044403. 3
68634044404. 4

Question Number : 2 Question Id : 68634011246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the purpose of Production - Linked incentive Scheme (PLI)?

1. to raise exort capabilities of the country

[

. to raise manufacturing capabilities in the country
3. to raise income capabilities of the citizens
4. to raise import capabilities of the country

Options :

68634044405. 1
68634044406. 2
68634044407. 3
68634044408. 4

Question Number : 3 Question Id : 68634011247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the external affairs minister India need to get its focus back on to take advantage in
the post pandemic world?

1. Export

2. Import

3. Per capital income
4. Manufacturing

Options :

68634044409. 1
68634044410. 2
68634044411. 3
68634044412. 4

Question Number : 4 Question Id : 68634011248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In the name of opening the economy and globalising we should end up de-industrialising this
country.

Statement IT: We should not allow level playing field in this country.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
68634044413. 1
68634044414. 2

68634044415. 3
68634044416. 4

Question Number : 5 Question Id : 68634011249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Antonym of the word Robust’

1. Strong and healthy

2

. Weak and unhealthy
3. Restart
4. Remove

Options :

68634044417. 1
68634044418. 2
68634044419. 3
68634044420. 4

Sub-Section Number : 2
Sub-Section Id : 686340373
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634011250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the options given below this sentence should replace it to make it grammatically correct:

In light of his extraordinary impressive leadership skills, a recent survey put Abhiram ahead of Vijit in the race
for the post of school leader and found him to be the best candidate of the two.

1. In light of his extraordinarily impressive leadership skills. a recent survey put Abhiram ahead of Vyjit in
the race for the post of school leader and found him to be the best candidate of the two.

2. In light of his extraordinarily impressive leadership skills, a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be the better candidate of the two.

3. In light of his extraordinarily impressive leadership skills, a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be a better candidate of the two.

4. No correction

Options :

68634044421. 1
68634044422. 2
68634044423. 3
68634044424. 4

Question Number : 6 Question Id : 68634011250 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the options given below this sentence should replace it to make it grammatically correct:

In light of his extraordinary impressive leadership skills, a recent survey put Abhiram ahead of Vijit in the race
for the post of school leader and found him to be the best candidate of the two.

1. In light of his extraordinarily impressive leadership skills. a recent survey put Abhiram ahead of Vyjit in
the race for the post of school leader and found him to be the best candidate of the two.

| ]

. In light of his extraordinarily impressive leadership skills, a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be the better candidate of the two.

3. In light of his extraordinarily impressive leadership skills, a recent survey put Abhiram ahead of Vijit in
the race for the post of school leader and found him to be a better candidate of the two.

4. No correction

Options :

68634044421. 1
68634044422. 2
68634044423. 3
68634044424. 4

Question Number : 7 Question Id : 68634011251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the sentence with the incorrect use of Phrasal verbs.

1. The affects of the medicine will wear off after few hours.

[

. The shine on the leather will wear off quickly.
3. After you drive a new car for a while, the novelty wears off.
4. If you wear the shoes everyday, you will soon wear them off.
Options :
68634044425. 1
68634044426. 2

68634044427. 3
68634044428. 4

Question Number : 7 Question Id : 68634011251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the sentence with the incorrect use of Phrasal verbs.

1. The affects of the medicine will wear off after few hours.

| B

. The shine on the leather will wear off quickly.
3. After you drive a new car for a while. the novelty wears off.
4. If you wear the shoes everyday, you will soon wear them off.

Options :

68634044425. 1
68634044426. 2
68634044427. 3
68634044428. 4

Question Number : 8 Question Id : 68634011252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the right sequence to make a meaningful paragraph.

A. Surveillance of emerging viral diseases is crucial to help early detection, monitoring

B. The concept of one' health is increasingly taking centre stage

C. As the affected countries continue to make efforts to contain the disease and another country

D. Circulation and evolution and develop effective diagnostic. prevention and control measures it as only
natural

E. Burundi. investigates a suspected outbreak of viral haemorhage fever

1.C-A-B-E-D

b2

.C-E-A-D-B
3JE-D-A-B-C
4 E-D-B-C-A

Options :

68634044429. 1
68634044430. 2
68634044431. 3
68634044432. 4

Question Number : 8 Question Id : 68634011252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in the right sequence to make a meaningful paragraph.

A. Surveillance of emerging viral diseases is crucial to help early detection, monitoring

B. The concept of one' health is increasingly taking centre stage

C. As the affected countries continue to make efforts to contain the disease and another country

D. Circulation and evolution and develop effective diagnostic. prevention and control measures it as only
natural

E. Burundi. investigates a suspected outbreak of viral haemorhage fever

1.C-A-B-E-D

b2

.C-E-A-D-B
3JE-D-A-B-C
4 E-D-B-C-A

Options :

68634044429. 1
68634044430. 2
68634044431. 3
68634044432. 4

Question Number : 9 Question Id : 68634011253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word 'TOIL' 1s:

1. Selective
2. Strive
3. Sloth
4. Vivid

Options :

68634044433. 1

68634044434. 2

68634044435. 3
68634044436. 4

Question Number : 9 Question Id : 68634011253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word 'TOIL' is:

1. Selective

[ )

. Strive
3. Sloth
4. Vivid

Options :

68634044433, 1
68634044434, 2
68634044435. 3
68634044436. 4

Question Number : 10 Question Id : 68634011254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Sound produced in one object by sound waves from another
1. Rhyme
2. Riviera
3. Rodent
4. Resonance
Options :

68634044437. 1
68634044438. 2



68634044439. 3
68634044440. 4

Question Number : 10 Question Id : 68634011254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sound produced in one object by sound waves from another

1. Rhyme

| B

. Riviera
3. Rodent

4, Resonance

Options :

68634044437. 1
68634044438. 2
68634044439. 3
68634044440. 4

Question Number : 11 Question Id : 68634011255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Anjali sufferred a loss of 20% on selling an article at 2520. What was the cost price (in Rs) of the article?

1.2016

2
-
o
—
o

4. 3500

Options :

68634044441. 1
68634044442. 2
68634044443. 3
68634044444, 4

Question Number : 11 Question Id : 68634011255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Anjali sufferred a loss of 20% on selling an article at 32520, What was the cost price (in Rs) of the article?

1.2016

b2

2610

4. 3500

Options :

68634044441. 1
68634044442. 2
68634044443. 3
68634044444, 4

Question Number : 12 Question Id : 68634011256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1£ 2771 + 271 = 320, then the value of m is

| )
L

4.8

Options :

68634044445. 1
68634044446. 2
68634044447. 3
68634044448. 4

Question Number : 12 Question Id : 68634011256 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1£ 2771 + 271 = 320, then the value of n is :

[
[

4.8

Options :
68634044445. 1
68634044446. 2



68634044447.3
68634044448. 4

Question Number : 13 Question Id : 68634011257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A square and an equilateral tirangle have equal perimiters. What 1s the ratio of area of the equilateral triangle
to the area of the square?

Options :

68634044449. 1
68634044450. 2
68634044451. 3
68634044452. 4

Question Number : 13 Question Id : 68634011257 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A square and an equilateral tirangle have equal perimiters. What is the ratio of area of the equilateral triangle
to the area of the square?

Options :

68634044449. 1
68634044450. 2
68634044451. 3
68634044452. 4

Question Number : 14 Question Id : 68634011258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sum of 218000 1s invested for 2 years. If the difference between the compound interest and simple interest
18 2405, then what is the rate of interest?

1.12%
22123054
3. 15%
4.16%

Options :

68634044453. 1
68634044454. 2
68634044455. 3
68634044456. 4

Question Number : 14 Question Id : 68634011258 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of 18000 1s invested for 2 years. If the difference between the compound interest and simple interest
18 7405, then what is the rate of interest?

1.12%
2. 12:5%
3. 15%
4.16%

Options :

68634044453. 1
68634044454. 2
68634044455. 3
68634044456. 4

Question Number : 15 Question Id : 68634011259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A takes twice as much time as B takes. and thrice as much time as C takes to do a work. If working together
they can do the work in 4 days, then in how many days can B do the work?

1.6

[ ]
[#.2)

4,12

Options :



68634044457. 1
68634044458. 2
68634044459. 3
68634044460. 4

Question Number : 15 Question Id : 68634011259 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A takes twice as much time as B takes. and thrice as much time as C takes to do a work. If working together
they can do the work in 4 days, then in how many days can B do the work?

1.6

4,12

Options :

68634044457. 1
68634044458. 2
68634044459. 3
68634044460. 4

Question Number : 16 Question Id : 68634011260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing towards a girl. Ankita said. "She is the mother of Sonal whose father is my son." How is Ankita
related to the girl?

1. Aunt

| )

. Sister-in-law

Laa

. Mother-in-law
4. Daughter

Options :

68634044461. 1
68634044462. 2
68634044463. 3
68634044464. 4

Question Number : 16 Question Id : 68634011260 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing towards a girl, Ankita said. "She 1s the mother of Sonal whose father is my son." How is Ankita
related to the girl?

1. Aunt
2. Sister-in-law
3. Mother-in-law
4. Daughter
Options :
68634044461. 1
68634044462. 2

68634044463. 3
68634044464. 4

Question Number : 17 Question Id : 68634011261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If in a certain language. WATER 1s coded as BXUSF, which word could be coded as MARCH?
1. BNRID
2. BSNID
3. BNSID

4. BMSID
Options :
68634044465. 1
68634044466. 2

68634044467. 3
68634044468. 4

Question Number : 17 Question Id : 68634011261 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
If in a certain language. WATER 1s coded as BXUSF, which word could be coded as MARCH?
1. BNRID
2. BSNID
3. BNSID

4. BMSID

Options :
68634044465. 1



68634044466. 2
68634044467. 3
68634044468. 4

Question Number : 18 Question Id : 68634011262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One morning after Sunrise, Rekha and Khusi were talking to each other face to face at redfort. If Kushi's
shadow was exactly to the right of Rekha, which direction Kushi was facing?

1. East
2. West
3. North

4. South

Options :

68634044469. 1
68634044470. 2
68634044471. 3
68634044472. 4

Question Number : 18 Question Id : 68634011262 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One morning after Sunrise, Rekha and Khusi were talking to each other face to face at redfort. If Kushi's
shadow was exactly to the right of Rekha, which direction Kushi was facing?

1. East

[ ]

. West
3. North

4. South

Options :

68634044469. 1
68634044470. 2
68634044471. 3
68634044472. 4

Question Number : 19 Question Id : 68634011263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Replace the question mark (?) in the following series with suitable option:
C3A.E5E. G71. 190, ?

1. K10M

[ ]

.K11U
3. K13U
4.L11U

Options :

68634044473. 1
68634044474. 2
68634044475. 3
68634044476. 4

Question Number : 19 Question Id : 68634011263 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Replace the question mark (?) in the following series with suitable option:

C3A,E5E, G71, 190, ?

1. K10M

[ ]

.K11U
3. K13U
4.L11U

Options :

68634044473. 1
68634044474. 2
68634044475. 3
68634044476. 4

Question Number : 20 Question Id : 68634011264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the assumptions is implicit in the statement:

Statement: The railway authority has announced that it will carry out major repair work for three days
beginning Sunday on the main line connecting the two big cities in the state bringing the rail service to a halt.

Assumptions:

L. People may still plan their travel by train between the two big cities even on these three days.
II. People may reschedule their journey in view of the railway authority's decision.

Choose the correct answer from the options given below:

1. If only assumption I 1s implicit

b2

. If only assumption II is implicit
3. If both assumption I and II are implicit
4, If either assumption I or assumption IT 1s implicit

Options :

68634044477. 1
68634044478. 2
68634044479. 3
68634044480. 4

Question Number : 20 Question Id : 68634011264 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the assumptions is implicit in the statement:

Statement: The railway authority has announced that it will carry out major repair work for three days
beginning Sunday on the main line connecting the two big cities in the state bringing the rail service to a halt.

Assumptions:
L. People may still plan their travel by train between the two big cities even on these three days.
I1. People may reschedule their journey in view of the railway authority's decision.
Choose the correct answer from the options given below:
1. If only assumption I is implicit
2. If only assumption IT 1s implicit
3. If both assumption I and IT are implicit
4, If either assumption I or assumption II 1s implicit
Options :

68634044477. 1
68634044478. 2



68634044479. 3
68634044480. 4

Question Number : 21 Question Id : 68634011265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

(Country) (Capital)
A |Uzbekistan 1. |Tashkent
B. [Tajikistan II. [Dushanbe
C. [Kyrgyzstan ITI. |Bishkek
D. |Turkmenistan | IV |Ashgafat

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV
2. A-L, B-II. C-IV. D-III
3. A-I. B-III. C-IV. D-II
4. A-L. B-IV. C-1I. D-ITI

Options :

68634044481. 1

68634044482. 2

68634044483. 3
68634044484. 4

Question Number : 21 Question Id : 68634011265 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

(Country) {Capital)
A |Uzbekistan I. |Tashkent
B. |Tajikistan II. [Dushanbe
C. [EKyrgyzstan I11. [Bishkek
D. |[Turkmenistan | IV. |Ashgafat

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

[ ]

CA-L B-ILL C-IV. D-IIT
3. A-L. B-I11, C-IV. D-II
4. A-I. B-IV. C-I1, D-III

Options :

68634044481. 1
68634044482. 2
68634044483. 3
68634044484. 4

Question Number : 22 Question Id : 68634011266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the National Human Rights Commission (NHRC) Act. 1993, who amongst the following can be
its chairman

1. Any serving judge of the Supreme court
2. Any serving judge of the High court
3. Only a retired chief justice of the Supreme court
4. Ouly a retired chief justice of High court
Options :
68634044485. 1
68634044486. 2

68634044487. 3
68634044488. 4

Question Number : 22 Question Id : 68634011266 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the National Human Rights Commission (NHRC) Act. 1993, who amongst the following can be
its chairman

1. Any serving judge of the Supreme court

2. Any serving judge of the High court

3. Only a retired chief justice of the Supreme court
4. Ouly a retired chief justice of High court

Options :

68634044485. 1
68634044486. 2
68634044487. 3
68634044488. 4

Question Number : 23 Question Id : 68634011267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct chornological order of the following events from the codes given below:

A, Poona Pact

B. Quit India Movement
C. Cabinet Mission

D. Shimla Conference

Choose the correct answer from the options given below:
1.LA-B-D-C
2.D-C-B-A
3.C-D-A-B
4.B-C-D-A

Options :

68634044489. 1
68634044490. 2
68634044491. 3
68634044492. 4

Question Number : 23 Question Id : 68634011267 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct chornological order of the following events from the codes given below:

A, Poona Pact
B. Quit India Movement
C. Cabinet Mission

D. Shimla Conference
Choose the correct answer from the options given below:
1.A-B-D-C
2.D-C-B-A
3.C-D-A-B
4. B-C-D-A

Options :

68634044489. 1
68634044490. 2
68634044491. 3
68634044492. 4

Question Number : 24 Question Id : 68634011268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): The Government of India Act. 1919 was passed by the British Parliament to introduce Diarchy
i the Provincial government.

Reason (R): Montague - Chelmsford Reforms. committee has recommended the introduction of Diarchy in
the Provineial government.
In the light of the above statements. choose the correct answer from the options given below:
1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4, (A) is false but (R) 1s true
Options :
68634044493. 1
68634044494. 2

68634044495. 3
68634044496. 4

Question Number : 24 Question Id : 68634011268 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): The Government of India Act. 1919 was passed by the British Parliament to introduce Diarchy
i the Provincial government.

Reason (R): Montague - Chelmsford Reforms. committee has recommended the introduction of Diarchy in
the Provineial government.

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4, (A) is false but (R) 1s true

Options :

68634044493. 1

68634044494. 2

68634044495. 3
68634044496. 4

Question Number : 25 Question Id : 68634011269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: The speed of Telecommunication Satellite relative to earth is zero.
Statement IT: Hence it appears to be stationary to a person on the earth.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I 1s false but Statement IT is true
Options :
68634044497. 1
68634044498. 2

68634044499. 3
68634044500. 4

Question Number : 25 Question Id : 68634011269 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The speed of Telecommunication Satellite relative to earth is zero.
Statement IT: Hence it appears to be stationary to a person on the earth.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false
4. Statement I is false but Statement II is true
Options :
68634044497. 1
68634044498. 2

68634044499. 3
68634044500. 4

Part B: Linguistics

Section Id : 686340224
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340374
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634011270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The phrases 'easily enough' and 'easy enoughly' are examples of slip of the tongue.
Statement II: The words "himself and 'herself are example of R-expressions
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement 11 is false
4. Statement I 1s false but Statement II is true
Options :
68634044501. 1
68634044502. 2

68634044503. 3
68634044504. 4

Question Number : 26 Question Id : 68634011270 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &l YA [GU T §: SHITHYT (Assertion A) & U 1 [ARIT § I GIRT BRI (Reason R) & TY 1:

SfUFYT A 'easily enough' 3R 'easy enoughly’ & I
BT R: ‘himself 3R herself T sifiaaiad & Iamu 3|

SWRI DY & HTaid 1, 1< 4y Y f[deedi T 9 9 Sugad SR &1 94 Hifoiy
1. A SR R 31 981 8 AR R. A P Hel oUReAT 8
2. A SRR G 98 5. TR , A B US| TR el &
3. AT R AP R TR
4, AEI TR S AT R WSl &

Options :

68634044501. 1
68634044502. 2
68634044503. 3
68634044504. 4

Question Number : 27 Question Id : 68634011271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The sentences "Jatin is married' and 'Jatin 15 a bachelor' are in a relation of entailment with each
other.

Statement II: The sentence "Rocky is a cat' contradicts the sentence 'Rocky 13 an animal'
In the light of the above statements. choose the correct answer from the options given below-

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement IT is true

Options :

68634044505. 1

68634044506. 2

68634044507. 3
68634044508. 4

Question Number : 27 Question Id : 68634011271 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%f‘cflam:fﬁft{m%’:
HYF 1 : A S faared g SiR "SifeH FaRT 8" TH-gIR & A HaHg Sy F
Y 11 : T "I U faeell § 1" Wied Hal & g Pt Uh T 8" B |

SWRIGd DY & 3HTalld 1, A1 2y 7Y fdeedi T I 988 Uy SR &1 99 Sy
1. A SR R 3 981 § AR R. A P He! R 8
2. A SR R GHI 98 5. Al R . A B U IR el &
3. ATEI R AP R TR S R
4 ATS TR APIRTEI 8

Options :

68634044505. 1
68634044506. 2
68634044507. 3
68634044508. 4

Question Number : 28 Question Id : 68634011272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The words 'purchase’ and 'buy' are synonyms of each other.
Statement II: The words 'elderly’ and 'aged’ are homophones of each other.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement 11 is false
4. Statement I 1s false but Statement II is true
Options :
68634044509. 1
68634044510. 2

68634044511. 3
68634044512. 4

Question Number : 28 Question Id : 68634011272 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy RRumuE:

PYA I: s "purchase’ AR "buy’ W—W & U B |
FUT I1: TG ‘elderly’ R ‘aged ' TH-GIR F TR ¢

SWRI Y & ATl 1, 19 34U 7Y foieedil ¥ ¥ 98 Suge IR &1 99 S

1. BYT I AR 11 ST T8 &
2. HYF1 3R 11 ST TTad ©
3. BYT 1 Tel 8. i sy 1 TTad 8
4. BYT 1 7T, AfT YT 1 TR §

Options :

68634044509. 1

68634044510. 2

68634044511. 3
68634044512. 4

Question Number : 29 Question Id : 68634011273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A PMizo I. Indo Aryvan
B. |Khas: II. |Tibeto-Burman
C. |Tulu I1I. pMon-Khmer
D. [Sanskrit IV, [Dravedian

Choose the correct answer from the options given below:

1. A-III.B-II.C-1.D-IV

| ]

 A-ILB-IIL.C-IV.D-I
3. A-L.B-II.C-IV.D-I
4. A-I1.B-1.C-IIL.D-IV

Options :

68634044513. 1
68634044514. 2
68634044515. 3
68634044516. 4

Question Number : 29 Question Id : 68634011273 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
Tt 1 T
A Sl I [HRd-3mH
B. [ardi 1. [fsscd aul
C [d@ 111 [59 @R
D. [4%d WV [Edg
frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IIL.B-II.C-1.D-IV

| o

. A-ILB-IILC-IV.D-I
3. A-L.B-II.C-IV.D-1
4. A-I1.B-I.C-TII.D-IV

Options :

68634044513. 1
68634044514. 2
68634044515. 3
68634044516. 4



Question Number : 30 Question Id : 68634011274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Punjabi I [Lai
B. [Hindi 1. Jaintia
C. Pizo 1. PMalwat
D. [Khasi IV, |Bhojpuri

Choose the correct answer from the options given below:

1. A-LB-IV.C-II.D-III

| )

. A-IILB-IV.C-II.D-I
3. A-IILB-IV.C-I.D-II
4. A-IL.B-IV.C-1.D-III

Options :

68634044517. 1
68634044518. 2
68634044519. 3
68634044520. 4

Question Number : 30 Question Id : 68634011274 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
TqAT T T I
A [doiret L [og
B. =<l 1. [SHfaa
C. [fE= 111 [y
D. [Tt IV, [HieTgd
fAafaRad foweal & O Ot SO &1 994 Difog -

1. A-LB-IV.C-IL.D-III

|

. A-TILB-IV.C-I1.D-I
3. A-ITILB-IV.C-L.D-II
4. A-ILB-IV.C-I.D-III

Options :

68634044517. 1

68634044518. 2
68634044519. 3



68634044520. 4

Question Number : 31 Question Id : 68634011275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Retroflex sounds are not found in which of the following languages
1. Mundari
2. Ao
3. Tamil
4, Punjabi

Options :

68634044521. 1
68634044522. 2
68634044523. 3
68634044524. 4

Question Number : 31 Question Id : 68634011275 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 yreait # g et e o ot €

1. qusRI

33

NIEK
4. GoiTalt

Options :

68634044521. 1

68634044522. 2

68634044523.3
68634044524. 4

| )

L

Question Number : 32 Question Id : 68634011276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The words which specify grammatical relations and have little or no semantic content are known as.

1. Content words

[

. Cultural words

L]

. Function words

4. Contact words

Options :

68634044525. 1
68634044526. 2
68634044527. 3
68634044528. 4

Question Number : 32 Question Id : 68634011276 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d W3 il fob iU (STdRuNete) Heitl &[99 0§ goeid &d 8 3R IS a1 fomr srdrd fawa
qE A s e. dgdEU N A oId © -

1. fovgay] Iss
2. I ide T
3. P Ieg
4. U® g
Options :
68634044525. 1
68634044526. 2

68634044527. 3
68634044528. 4

Question Number : 33 Question Id : 68634011277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A concept of sociolinguistics, which refers to the gradual or sudden move from the use of one language to
another is called.

1. Language maintenance
2. Language shift
3. Language aquisition

4. Language loyality



Options :

68634044529. 1
68634044530. 2
68634044531. 3
68634044532. 4

Question Number : 33 Question Id : 68634011277 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIYI-fA3T ©1 U 3raeRom, S fob febddt U 1rer I Et WIST UR hifieh 31yl 3 e &0 9 =dd &3
3 H&fd gidl 8. 95 dead o -

1. T Sgrgoy

YIS TR

- YTST 3ol (2Afermg)
4, YTt fAmT

Options :

68634044529. 1

68634044530. 2

68634044531.3
68634044532. 4

[ ]

[ 5]

Question Number : 34 Question Id : 68634011278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Learning a language necessarily involves learning its grammer, by which we mean learning to
use the right form of words and rules relating to the order in which words occur

Reason R: Language is learnt solely through Imitation

In the light of the above statements. choose the correct answer from the options given below
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true and R 18 NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

68634044533. 1
68634044534. 2
68634044535. 3



68634044536. 4

Question Number : 34 Question Id : 68634011278 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 U ST T §: HTBUT (Assertion A) P U T [ARIT © dl GIRT BRI (Reason R) & Y 1:
sifiymyA A fodt ff wrer & dias 1 39 YW &1 e IRk giEfed sial e Sas gaae ge s i
VsG] B "ol &0 B SaHTd ST 3R 399 deferd Faat &1 ORaar forg o8 8 9eg 9 91d §1
HIROTR: U ({0 301 & gl JE &rell g |

SWRIsd HY & 3Talie H, i fau 7Y f[ddedl § ¥ 9ad Suged STk &1 90 SHifely

1. A SR R 3 961 € AR R, A D eI RS §
ARRIA HEI 8. AlPTR . AP TS AR TR ©
AT AGTR T AL

AT TS g APTIR T ©

Options :

68634044533. 1
68634044534. 2
68634044535. 3
68634044536. 4

| )

[#5]

=

Question Number : 35 Question Id : 68634011279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The word "Kingsdom" is an ill-formed word of English

Reason R:The inflectional morpheme must be closer to the root

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

-2

. Both A and R are true and R is NOT the correct explanation of A
3. A 1s true but R is false

4. A is false but R is true

Options :

68634044537. 1
68634044538. 2
68634044539. 3
68634044540. 4



Question Number : 35 Question Id : 68634011279 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIEGIEIE] ﬁ-q g %’: HHHYA (Assertion A) & 39 I fafaa % ar G PRI (Reason R) HIUH;

HTUFUT A: "Kingdom" T3 3Tl P1 faFH1d T3 |
PR R: Ry (g 9o & g1y 3/e0g gt =1eu|

SWRI Y & ATcile |, 1< f3U MU faedi T I T8 Iuged 3R &1 90 Sy
1. A 3R R I g1 § SR R. A P! Hel AT &

A SRR TE E, AR, AT G oo ST R

AT R AR TR IS

4 AGE TR AP R WET ®

Options :

68634044537. 1
68634044538. 2
68634044539. 3
68634044540. 4

2

Question Number : 36 Question Id : 68634011280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following Indigenious Languages are spoken in Arunanchal Pradesh

A. Nissi

B. Malyalam
C. Adi

D. Kurux

Choose the correct answer from the options given below:

1. Aand E only

| )

.AEB only
3. Aand C only
4. C.D only

Options :

68634044541. 1
68634044542. 2
68634044543. 3
68634044544. 4



Question Number : 36 Question Id : 68634011280 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafEd ®1F-3 axe YUY SR Waxl | &l Sl 87

A 5

B. HOUIaH
C. 3fal

D. Ty

- fau Y fawed! & ¥ Hel SR o 90 S -
1. %ad A 3R E
2. PIAAEIRB
3. P AARC
4.%ad C 3R D

Options :

68634044541. 1
68634044542. 2
68634044543. 3
68634044544. 4

Question Number : 37 Question Id : 68634011281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of these is not a Dravidian language?

1. Telugu

| B

. Tulu
3. Konkam

4. Toda

Options :

68634044545. 1
68634044546. 2
68634044547. 3
68634044548. 4

Question Number : 37 Question Id : 68634011281 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g0 @ SIH-91 gfds U uiaR &1 981 82
1. O]
49
 Pidpult
4. AI3T
Options :
68634044545, 1
68634044546, 2

68634044547. 3
68634044548. 4

[ ]

L]

Question Number : 38 Question Id : 68634011282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of these is not a Tibeto-Burman language?

1. Kuki

[ )

. Kurux
3. Sema
4. Angami
Options :
68634044549. 1
68634044550. 2

68634044551. 3
68634044552. 4

Question Number : 38 Question Id : 68634011282 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
28§ HH-H. faeadl-ar urw 8T 8 -
1. Gl
L pedl
it
4. STTH

Options :
68634044549. 1

| )

L



68634044550. 2
68634044551.3
68634044552. 4

Question Number : 39 Question Id : 68634011283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of these languages 1s not listed n the 8™ schedule of the constitution?

1. Sindhi

| )

. Dogri

Lad

. Maithili
4. Marwari

Options :

68634044553. 1
68634044554. 2
68634044555. 3
68634044556. 4

Question Number : 39 Question Id : 68634011283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG B 3medT AT 8 578 § BT U TS R
1. Rt

Options :

68634044553. 1
68634044554. 2
68634044555. 3
68634044556. 4

Question Number : 40 Question Id : 68634011284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A PMaithily I |Shahmukhi
B. [Punjabi II. |R.oman
C. [Urdu 1. |Gurumukhu
D. [English IV. [Devnagri

Choose the correct answer from the options given below:

1. A-II.B-I.C-IIL.D-IV

| ]

. A-TV.B-II.C-1.D-III
3. A-IILB-ILC-1.D-IV
4. A-IV.B-III.C-I.D-II

Options :

68634044557. 1
68634044558. 2
68634044559. 3
68634044560. 4

Question Number : 40 Question Id : 68634011284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
Tt 1 T
A [HTER I [zmEaE
B. [derrd] I R
C [3g il JEeEll
D. |3l IV, [GadATR]
frafaRad foeed & 3 98t TR &1 991 DI

1. A-II.B-I.C-IIL.D-IV

| o

. A-IV.B-II.C-1I.D-III

LFN]

A-IILB-II.C-1.D-IV

=

CA-TV.B-IIILC-I.D-II

Options :

68634044557. 1
68634044558. 2
68634044559. 3
68634044560. 4



Question Number : 41 Question Id : 68634011285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pick the odd one out

1. Certain

2

. Inconfident
3. Might
4. Doubtful

Options :

68634044561. 1
68634044562. 2
68634044563. 3
68634044564. 4

Question Number : 41 Question Id : 68634011285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
REm P
REIEG]
2. el
3. Mg
4. YpTHY
Options :
68634044561. 1
68634044562. 2

68634044563. 3
68634044564. 4

Question Number : 42 Question Id : 68634011286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The word"smog" 1s an example of:

1. Onomatopoeia

| B

. Acronyms

3. Blend

e

. Clipping



Options :

68634044565. 1
68634044566. 2
68634044567. 3
68634044568. 4

Question Number : 42 Question Id : 68634011286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 'smog' Jaleill g Bl

1. HAJPIUHD Feg

- gfeauff oreg
iy

4. TfeepT

Options :

68634044565. 1
68634044566. 2
68634044567. 3
68634044568. 4

[ ]

L]

Question Number : 43 Question Id : 68634011287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below 1s some data from language Indonesia

anak 'Child'

anak-anak ' Children'

Which merphological process does this data illustrate

1. Suppletion

| )

. Utilization
3. Internal change
4. Reduplication

Options :

68634044569. 1
68634044570. 2
68634044571. 3
68634044572. 4



Question Number : 43 Question Id : 68634011287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SSIHIRMETE 4TS & & S1eT 1 MY &
anak 'Child'

anak-anak ' Children'

g% g wufaqi=e ufsear &f g2idr 8
1. gafew

2. GaIDRul
3. STIR® gRaa-

4. GToiaRT

Options :

68634044569. 1
68634044570. 2
68634044571. 3
68634044572. 4

Question Number : 44 Question Id : 68634011288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many morphenes are there in the word "unwritten"

1. One

b2

. Two
3. Five
4. Three

Options :

68634044573. 1
68634044574. 2
68634044575. 3
68634044576. 4

Question Number : 44 Question Id : 68634011288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Qeq unwritten' H [ d- 00 %’ :
1. TP
gl

[ ]

e

ik
4. d=

Options :

68634044573. 1
68634044574. 2
68634044575. 3
68634044576. 4

L]

Question Number : 45 Question Id : 68634011289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In an endocentric compound, the entire compound denotes a subtype of the.................

1. Derivational affix

[ )

. Whole word
3. Head

4. Inflectional affix

Options :

68634044577. 1
68634044578. 2
68634044579. 3
68634044580. 4

Question Number : 45 Question Id : 68634011289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 3id:bigd IH9 5 quf 94 U SUFHR CAETUGIN
1. gTdl Uy

ol Irsg

3. UeM

4. favfd vegg

Options :
68634044577. 1

| )



68634044578. 2
68634044579. 3
68634044580. 4

Question Number : 46 Question Id : 68634011290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Morphology is the grammar component that pertains to

1. Speech sounds

b2

. Sentence formation
3. Word formation
4. Meaning interpretation

Options :

68634044581. 1
68634044582. 2
68634044583. 3
68634044584. 4

Question Number : 46 Question Id : 68634011290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=4 33 10 &1 U Ued ¢ forga! Jay -

1. 91 o

| ]

GICUEITERI!
3. Yleg AT
4. 34 fAd=m

Options :

68634044581. 1
68634044582. 2
68634044583. 3
68634044584. 4

Question Number : 47 Question Id : 68634011291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The morpheme "al" in the word "seasonal” is an example of

1. a prefix

[ B

. an infix

L]

. a suffix

4. a circumfix

Options :

68634044585. 1
68634044586. 2
68634044587. 3
68634044588. 4

Question Number : 47 Question Id : 68634011291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUIH 'al'. 'seasonal’ eg 5| Jalgill % :
1.34H?
3t

3. 0
4. TR T

Options :

68634044585. 1
68634044586. 2
68634044587. 3
68634044588. 4

| )

Question Number : 48 Question Id : 68634011292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: The word morphology in Linguistics is a borrowing from the field of Biology
Statement II: The word morphology has nothing to do with Biology

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634044589. 1
68634044590. 2
68634044591. 3
68634044592. 4

Question Number : 48 Question Id : 68634011292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g FyafRumu gl

HYT I HTSTIGTH H Yeg UL, Safaq & fomn T g1
HUF I1: IR g BT oiigiae § o 1 S-S 761 ¢

SWRI Y & ATl 1, 19 34U 7Y foieedil ¥ ¥ 98 Suge IR &1 99 S

1. BYT I AR 11 ST T8 &
2. HYF1 3R 11 ST TTad ©
3. BYT 1 Tel 8. i sy 1 TTad 8
4. BYT 1 7T, AfT YT 1 TR §

Options :

68634044589. 1

68634044590. 2

68634044591. 3
68634044592. 4

Question Number : 49 Question Id : 68634011293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A |verb I. Lotus
B. [Noun II. [Laugh
C. |Adjective III. [Honest
D. [Adverb IV. |Slowly

Choose the correct answer from the options given below:

1. A-I. B-III.C-IL.D-IV

| ]

 A-ILB-LC-IILD-IV
3. A-IV.B-II.C-IIL.D-I
4. A-1.B-IV,C-IIL.D-II

Options :

68634044593. 1
68634044594. 2
68634044595. 3
68634044596. 4

Question Number : 49 Question Id : 68634011293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
Tt 1 T I
A. [fehar 1. [oed
B. [gam 1L [d®
C. g 1L [aiee
D. [fepariagmor | Iv. [kareH

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-I. B-IIL.C-IL.D-IV

| o

. A-IL.B-I.C-IIL.D-IV
3. A-IV.B-II.C-III.D-I
4. A-I.B-IV,.C-III.D-II

Options :

68634044593. 1
68634044594. 2
68634044595. 3
68634044596. 4



Question Number : 50 Question Id : 68634011294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following words in terms of their morphological complexity from least to most complex

A. Operationalization

B. Lovely
C. hated
D. flowcharts

Choose the correct answer from the options given below

1.C.BDA

| )

.B.D.C.A
3. ADB.C
4.B.C.D.A

Options :

68634044597. 1
68634044598. 2
68634044599. 3
68634044600. 4

Question Number : 50 Question Id : 68634011294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafefRad gsgi &1 37k Ifigd Tuvee g =PI O WRady ¥ Sfcady & 3R suafd & |

A. Operationalization
B. Lovely

C. hated

D. flowcharts

=i fau 0 fdaredl § ¥ Ogl 3R &1 904 DI -

1.C.B.D.A

2.BD.CA
3. ADB.C
4. B.C.D.A

Options :

68634044597. 1
68634044598. 2
68634044599. 3
68634044600. 4



Question Number : 51 Question Id : 68634011295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 1nitial sounds of the words Pat. bat and mat are the example of

1. Labiodentals

| B

. Glottals
3. Bilabials
4. Alveolars

Options :

68634044601. 1
68634044602. 2
68634044603. 3
68634044604. 4

Question Number : 51 Question Id : 68634011295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pat’. 'bat' and 'mat’ ¥[sal B RIIDH ?ﬁﬁ'ﬂ}ffiai SEAGUEE

1. &<I1g
2. WHg AT
3. fgaistg
4. dY

Options :

68634044601. 1

68634044602. 2

68634044603. 3
68634044604. 4

Question Number : 52 Question Id : 68634011296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the opening consonet segment of a syllable called?

1. Coda

[

. Onset

3. Centre

4. nueleus



Options :

68634044605. 1
68634044606. 2
68634044607. 3
68634044608. 4

Question Number : 52 Question Id : 68634011296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HER BT RIS WS el a1l 82
1. 3d
2. URY
3.HY
4. YD
Options :
68634044605. 1
68634044606. 2

68634044607. 3
68634044608. 4

Question Number : 53 Question Id : 68634011297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Merger refers to
1. A syntactic operation that combines elements to create phrases and sentences
2. A change in a phonological system in which the distinction between phonemes collapses
3. A word that 1s created from parts of two existing items
4. The process of grouping together syntactic elements of the same type using a conjunction
Options :
68634044609. 1
68634044610. 2

68634044611. 3
68634044612. 4

Question Number : 53 Question Id : 68634011297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 9 S E
1. U TS Haa [ored dad-S2 &1 HYeRiT=0l 63 ardigll SR arad] & Joi (a1 Sl 6 |
[l AT o O uRkad forad wiHel & g fadg gara gl oidr & |
. 7e3 Sl &l faermr wal & YRl o giord foan o g1
 JITEYD BT UGN HIh U YbR & qiaicid ded-320 &1 Uh 1Y Fig S ol Uihar

[ ]

L]

e

Options :

68634044609. 1
68634044610. 2
686340440611. 3
68634044612. 4

Question Number : 54 Question Id : 68634011298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
A |Front vowel I |i=)
B |Stop I 1)
C. |Glide I |ty
D. [Fricative IV |(w)

Choose the correct answer from the options given below:

1. A-II.B-I.C-IV.D-III

| )

. A-IILB-II.C-IV.D-I
3. A-ILB-IILC-IV.D-I
4. A-IL.B-IV.C-1.D-III

Options :

68634044613. 1
68634044614. 2
68634044615. 3
68634044616. 4

Question Number : 54 Question Id : 68634011298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

Tt 1 T
A |3REER 1. |is) The drdd
B. [mrl I [i) ¥
C. [[Fad 1l ) TS
D. [&udt V. |ow) ihchicd
frafafad fopel & 9 98t ok &1 99 DI -

1. A-II.B-I.C-IV.D-III

| o

. A-IILB-IL.C-IV.D-I
3. A-ILB-IIL.C-IV.D-I
4. A-I1.B-IV.C-1.D-III

Options :

68634044613. 1
68634044614. 2
68634044615. 3
68634044616. 4

Question Number : 55 Question Id : 68634011299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

C lete clos f vocal .

omplete closure of vocal | . |yo.
tract
B. |constriction of vocal tract | II. |Aspirate Stop
complete closure followed :

RIS 1L [Stop

by contriction of vocal tract
Complete oral closure with
" |zloltal constriction

IV [Fricative

Choose the correct answer from the options given below:
1. A-II.B-IV.C-1.D-III
2. A-IILB-IV.C-L.D-II
3. A-ILB-1.C-IV.D-III
4. A-ITL.B-L.C-IV.D-II
Options :
68634044617. 1

68634044618. 2
68634044619. 3



68634044620. 4

Question Number : 55 Question Id : 68634011299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

T I T 1T
AT 0y @] §U Tdfd L [Eqe guy
@ UY o T 1L [Fgmm w3l
@1% UY @ G| g o a1 Spad | 1L [&aR]

0] 3G Tqid & T1Y SR Sgad] IV [gEu
Fafeiad faeedl O O 98l SR &1 997 Sife ;

1. A-II.B-IV.C-I.D-III

ofafw]>

2. A-ITLB-IV.C-I.D-II
3. A-ILB-I.C-IV.D-III
4. A-IIL.B-1.C-IV.D-II

Options :

68634044617. 1
68634044618. 2
68634044619. 3
68634044620. 4

Question Number : 56 Question Id : 68634011300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

choose the correct options based on chronological order for the given phonological theories

A. Lexical Phonology

B. Auto-segmental phonology
C. Distinctive feature theory
D. Optimality theory

E. Element theory

choose the correct answer from the options given below

1.ECAB.D

[ ]

.C.ABED

LF%]

.C.B.ADE
4. E.CB.AD

Options :
68634044621. 1



68634044622. 2
68634044623.3
68634044624. 4

Question Number : 56 Question Id : 68634011300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fdu U s Rygidl @ PHER Uaf¥yd $3 el fdbed ST Fa o :

A. Qs A

B. ACTH=d F-Rd
C. gy fqgivar fgia
D. gl figia

E. diid® fgid

- fau e fawedt & 9 Hel SR o 90 S -

1. ECAB.D

| ]

. C.ABED

LFS]

.CB.ADE
4 E.CBAD

Options :

68634044621. 1
68634044622. 2
68634044623. 3
68634044624. 4

Question Number : 57 Question Id : 68634011301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the order of highest sonority to lowest sonority

A, Nasal

B. voiceless stops
C. vowels

D. voiced fricatives
E. glides

choose the correct answer from the options given below

1. ECADE

b2

.C.D.AE.B

L¥ 5]

. C.E,AD.B
4 CAEDB

Options :

68634044625. 1
68634044626. 2
68634044627. 3
68634044628. 4

Question Number : 57 Question Id : 68634011301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafead o sfteay el 9 =ay HH1iedl & o § ougieyd $1 |

A. TR afraf
B. 319 =i @
C. TR |
D. I Feef eaf=ai
E. 4fd 3failg

- fau e fawedt & 9 Hel SR o 90 S -

1. ECADB

| ]

. C.D.AE.B

LFS]

.C.EADB
4 CAEDB

Options :

68634044625. 1
68634044626. 2
68634044627. 3
68634044628. 4



Question Number : 58 Question Id : 68634011302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following vowels in terms of vowel height from high to low
1]

£
e
a

Onwpe

3
3l
ol
3l

Mt b oy

choose the correct answer from the options given below

1.DB.CA

| )

CACBD
3.ABDC
4. C.ABD
Options :
68634044629. 1
68634044630. 2

68634044631. 3
68634044632. 4

Question Number : 58 Question Id : 68634011302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad @i & TR 3t S & 2o 3= O 1 3t SR coafud #3

i fau U faw eyl O ¥ g1 3R &1 9094 Doy -

1.D.B.C.A
2.ACBD
3.ABD.C
4. C.ABD

Options :

68634044629. 1

68634044630. 2

68634044631. 3
68634044632. 4



Question Number : 59 Question Id : 68634011303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In some languages. syllables can appear without onsets
Reason R: No language prohibits onset

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R i1s the correct explanation of A

| )

. Both A and R are true and R is NOT the correct explanation of A
3. A 1s true but R 1s false

4. A iz false but R is true

Options :

68634044633. 1
68634044634. 2
68634044635. 3
68634044636. 4

Question Number : 59 Question Id : 68634011303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIEGIEIE] ﬁ-q g %’: HHHYA (Assertion A) & 39 I fafaa % ar G PRI (Reason R) HIUH;

SHUHYT A: P WIS H, &R &1 faehl U1 & 81 9epd § |
PRUIR: Dig i HTWT URY & 47 Taf Sl

SWRIG BYH & HTclid 1, A< 34U MU [ edi § I 9 Iugad 3R &1 99 Hifuiy
1. A 3R R 31 91 § SRR, A P! Hel URAT &
2. A SRR A e 8. AR AT T o et ®
3 ATSI R TR TR IS
4 AGEI TR AP R WET ®

Options :

68634044633. 1
68634044634. 2
68634044635. 3
68634044636. 4



Question Number : 60 Question Id : 68634011304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The phonological process where one sound becomes like an adjacent sound 1s known as
Assimilation

Statement IT: In human language an arbitrary relationship between the forms and meaning does not exist

In the light of the above statements. choose the correct answer from the options given below-

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement IT is true

Options :

68634044637. 1

68634044638. 2

68634044639. 3
68634044640. 4

Question Number : 60 Question Id : 68634011304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIEGIEIE] ﬁ-q g %’: HHHYA (Assertion A) & 39 I fafaa % ar G PRI (Reason R) HIUH;

iy A 59 WS uepn I 16 W, 0 Ree T4 & T30 &1 91T ¢, WieRu sedrdl g
®RUIR: B Y91 5 =07 3R 4furl & 0 o212 gefese gy T g gl

SWRIG BYH & HTclid 1, A< 34U MU [ edi § I 9 Iugad 3R &1 99 Hifuiy
1. A 3R R 31 91 § SRR, A P! Hel URAT &
2. A SRR A e 8. AR AT T o et ®
3 ATSI R TR TR IS
4 AGEI TR AP R WET ®

Options :

68634044637. 1
68634044638. 2
68634044639. 3
68634044640. 4



Question Number : 61 Question Id : 68634011305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The following sentence is an example of........ccocuveee.
"Sumeet knows Amit, doesn't he?
1. Auxillary inversion
2. Do support
3. Question tag
4. Verb raising
Options :
68634044641. 1
68634044642. 2

68634044643. 3
68634044644. 4

Question Number : 61 Question Id : 68634011305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frgfafad agg SeE e

"Sumeet know Amit, doesn't he?
1. FETTS HidqaH
2. F|UE
3. 9qY U/ Uy

4, T I™gA

Options :

68634044641. 1
68634044642. 2
68634044643. 3
68634044644. 4

Question Number : 62 Question Id : 68634011306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the followings illustrates the application of the substitution test.

1. The cats played in the mud. It was in the mud that the cats played.

[

. The cats will play near the gate. Near the gate . the cats will play

L]

. The cats played in the mud and enjoyed it
4. The cats played in the mud . The cats played there

Options :

68634044645. 1
68634044646. 2
68634044647. 3
68634044648. 4

Question Number : 62 Question Id : 68634011306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefad & ¥ o a1 ufamire udiemr & sy o gxfar g2

1. The cats played in the mud. It was in the mud that the cats played.

2

. The cats will play near the gate. Near the gate . the cats will play

LFN]

. The cats played in the mud and enjoyed 1t
4, The cats played in the mud . The cats played there

Options :

68634044645. 1
68634044646. 2
68634044647. 3
68634044648. 4

Question Number : 63 Question Id : 68634011307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Among the sentences below. which sentences are example of subject-auxiliary inversion?

A, Did Jia fall?

B. What will you buy?

C. Tarun had not asked for this?
D. You will like the gift

choose the correct answer from the options given below

1. AB only

[ ]

. C.D only
3. A.C only

4. B.C.D only

Options :

68634044649. 1
68634044650. 2
68634044651. 3
68634044652. 4

Question Number : 63 Question Id : 68634011307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- fau e aregl § S -3 ¥ 919g Sal-g9ed s fhal iddd & 3aIeeul o7

A Did Jia fall?

B. What will you buy?

C. Tarun had not asked for this?
D. You will like the gift

i feu U [deedl | U Tol 3T &1 994 ST -
1.$PAd A, B
2. $adC. D
3. PAUA.C
4.%ad B.C IR D

Options :

68634044649. 1
68634044650. 2
68634044651. 3
68634044652. 4

Question Number : 64 Question Id : 68634011308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following sentences contains a 'goal'?

A. Manav broke the bottle

B. Purvi gave me a book

C. Ambar went to chandigarh
D. I lost my other notebook

choose the correct answer from the options given below:

1. A.B only

| )

.B.C only

[F%]

. A.D only
4. B.C.D only

Options :

68634044653. 1
68634044654. 2
68634044655. 3
68634044656. 4

Question Number : 64 Question Id : 68634011308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafaa o 9 fog aeg § deg srafdy 82

A. Manav broke the bottle

B. Purvi gave me a book

C. Ambar went to chandigarh
D. I lost my other notebook

i fau 71U faedl © ¥ gl 3R &1 90+ DifulU :
1.$had A, B
2. $ad B, C
3. PaUTA.D
4.9ddB.C.D

Options :

68634044653. 1
68634044654. 2
68634044655. 3
68634044656. 4



Question Number : 65 Question Id : 68634011309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R.
Assertion A: The sentence "Jeetu liked" is an ungramatical sentence of English
Reason R: The Verb"like" is an intransitive verb

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R i1s the correct explanation of A

| )

. Both A and R are true and R is NOT the correct explanation of A
3. A 1s true but R 1s false
4. A is false but R is true

Options :

68634044657. 1

68634044658. 2

68634044659. 3
68634044660. 4

Question Number : 65 Question Id : 68634011309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIEGIEIE] ﬁ-q g %’: HHHYA (Assertion A) & 39 I fafaa % ar G PRI (Reason R) HIUH;

AT "Jeetu Liked" UG &1 Th

STUSYT A: HUS T B
PR R: Like' 501 U s fHar gl

SIS Y & 3HTaile |, A 34U U fasedi T I 98 Iugad 3Tk &1 90 Iy
1. A SR R I 961 § 3R R, A DI Tel ARAT &
2. A SRR 98 8. AR . AT T e et @
3. AT R PR TR IS
4 ATE RIS AP R WEH

Options :

68634044657. 1
68634044658. 2
68634044659. 3
68634044660. 4



Question Number : 66 Question Id : 68634011310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The sentence "He likes galloping horses” 1s ambiguous

Reason R: In English the word [galloping] can be a verb as well as an adjective

In the light of the above statements, choose the correct answer from the options given below

1.

| ]

4.

Both A and R are frue and R 1s the correct explanation of A

. Both A and R are true and R is NOT the correct explanation of A

. A 1s true but R 1s false

A is false but R is true

Options :

68634044661. 1
68634044662. 2
68634044663. 3
68634044664. 4

Question Number : 66 Question Id : 68634011310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 al By ﬁ‘[{ g %’: HHYF (Assertion A) & ¥9 1 fafaa % ar G PRI (Reason R) HIUH;

SUHYT A T "He likes galliping horses” g, dfermis dﬁ S{Qﬁ)
BRI R: 3ol H W5 [galloping] UF 3hUT9S T [92m0 giH1 81 9&d §

SURIG Y & 3HTaiie 1, H1d 2 7Y fdeedi T I T Sugad 3R &1 99 Sy

1.

)

3.

4.

A IR R IFI T8l § AR R. A P! ol R 2
A3RR A Tl &, Al R , A ®! Tl TSN 61 &

AT R AR T A ©
ATS IR AfrTRTE

Options :

68634044661. 1
68634044662. 2
68634044663. 3
68634044664. 4



Question Number : 67 Question Id : 68634011311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The surface word order in the sentence "Tea, I love" 1s

1. OVS
2. 850V
3. 08V
4. 5VO

Options :

68634044665. 1

68634044666. 2

68634044667. 3
68634044668. 4

Question Number : 67 Question Id : 68634011311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Tea. I love" AIF0 H Hdal Yeg HH B -

1. OVS

| S

.80V
3. 05V
4. 8VO

Options :

68634044665. 1
68634044666. 2
68634044667. 3
68634044668. 4

Question Number : 68 Question Id : 68634011312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pick the odd one out

1. Dance

b2

. Jump

L¥ 5]

. Scream
4. Be

Options :

68634044669. 1
68634044670. 2
68634044671. 3
68634044672 4

Question Number : 68 Question Id : 68634011312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fawm @1 g -

1. Dance

| B

. Jump

L]

. Scream
4. Be

Options :

68634044669. 1
68634044670. 2
68634044671. 3
68634044672. 4

Question Number : 69 Question Id : 68634011313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the phases given below to create a grammatical sentence of English

A. Has arrived
B. Whose guitar
C. The musician
D. This 1s

choose the correct answer from the options given below
1.AB.CD
2.B.D.CA
3. CADB
4. CB.D.A

Options :

68634044673. 1
68634044674. 2
68634044675. 3
68634044676. 4

Question Number : 69 Question Id : 68634011313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e fau U aragiv &t 3Gl & HHRUTRS aid] S & [0 oafid &

A. Has arrived
B. Whose guitar
C. The musician
D. This is

- fau 7Y famedt & ¥ Hel ST o 90 S -

1.AB.CD

2.B.D.CA
3.CADB
4. C.B.D.A

Options :

68634044673. 1
68634044674. 2
68634044675. 3
68634044676. 4

Question Number : 70 Question Id : 68634011314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A |Conjunction I. [Would
B. [Degree 1. [Too
C. PModal II1. JAnd
D. [Determiner IV, |This

Choose the correct answer from the options given below:

1. A-IV.B-II.C-I.D-III

| ]

 A-ITLB-II.C-1.D-IV
3. A-IILB-L.C-II.D-IV
4. A-LB-IIL.C-IV.D-II

Options :

68634044677. 1
68634044678. 2
68634044679. 3
68634044680. 4

Question Number : 70 Question Id : 68634011314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 i =i 11 &1 i Sifey
LISTI LISTII
A [T Conjunction I [Would
B. |Degree (FUN 1L |Too
C. [Modal (HI50) 1. |And
D. |Determiner %Emis:ﬁ; IV, |This
1 feu 7Tt fasedl § ¥ T8l 3R &1 90 DIl .

1. A-IV.B-II.C-1.D-III
2. A-IILB-II.C-1.D-IV
3. A-IILB-L.C-II.D-IV
4. A-1.B-IIL.C-TV.D-II

Options :

68634044677. 1

68634044678. 2

68634044679. 3
68634044680. 4



Question Number : 71 Question Id : 68634011315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term introduced into Linguistics by Chomsky in 'Syntactic Structures' referring to the mathematical
characterization of a finite-state-grammar 1s

1. Markov Process

2. Masky Process

3. Chain Process

4. Chomsky Process
Options :
68634044681. 1
68634044682. 2

68634044683. 3
68634044684. 4

Question Number : 71 Question Id : 68634011315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9% Ysq oIl {191 99 & 19 9THe! g1 qidd "Syntactic Structures” fae arawyT Bl & fagiieo
EIECRILI]

1. B {d ufdar
2. 7SS Ul
3. g ufeha
4, D] Hichdl
Options :
68634044681. 1
68634044682. 2

68634044683. 3
68634044684. 4

Question Number : 72 Question Id : 68634011316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A |Preposttion I. |Beautiful
B [Verb I [Drink
C. |[Adverb III. JAlways
D. |[Adjective IV. |Bw

Choose the correct answer from the options given below:

1. A-IV.B-I1.C-II.D-III

| ]

. ALB-II.C-IV.D-III
3. A-ILB-I.C-III.D-IV
4. A-IV.B-II.C-II1.D-I

Options :

68634044685. 1
68634044686. 2
68634044687. 3
68634044688. 4

Question Number : 72 Question Id : 68634011316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 T 1
A [qagT @aUaE®)| L [FREha
B. [féal I [f&h
C. [ fa=mm 111 [3fiads
D. [z V. [@1g
frafafad fopel & 9 98t ok &1 99 DI -

1. A-IV.B-I.C-II.D-III

| o

. ALB-II.C-IV.D-III
3. A-IL.B-I.C-III.D-IV
4. A-IV.B-II,C-III.D-I

Options :

68634044685. 1
68634044686. 2
68634044687. 3
68634044688. 4



Question Number : 73 Question Id : 68634011317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The phenomenon where a word imitates the real-world sound associated with the meaning of the word. such as
bow-wow is called

1. bow- wow words

2. Onomatopocia

3. Sound change

4. Borrowing
Options :
68634044689. 1
68634044690. 2

68634044691. 3
68634044692. 4

Question Number : 73 Question Id : 68634011317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg au oigl U s S8 AN @l o Galtid o BT b0 Hdl 3. oid (o 913-d13. deadl o
1. §13-a13 I8

RIS

%5 giadq

4. Al

[

L]

Options :

68634044689. 1
68634044690. 2
68634044691. 3
68634044692. 4

Question Number : 74 Question Id : 68634011318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In translation Q stands for,

1. Perfect translation

[ ]

. Formal Equivalents

L]

. Zero translation

4. Sandhi

Options :

68634044693. 1
68634044694. 2
68634044695. 3
68634044696. 4

Question Number : 74 Question Id : 68634011318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3Hare &4 1, fbd (M= 1Ud &l g2

1. g 3faTg
2. FUES 9a

3. 94 3dIg
4. iy

Options :

68634044693. 1
68634044694. 2
68634044695. 3
68634044696. 4

Question Number : 75 Question Id : 68634011319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A translation that adheres closely to the Linguistic form of a................ source language 15 known as:

1. Formal correspondent

(B

. Dynamic equivalence

5]

. Formal equivalence

=y

. Glossary

Options :
68634044697. 1



68634044698. 2
68634044699. 3
68634044700. 4

Question Number : 75 Question Id : 68634011319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1T UTHT & TN Y &1 ey 3aE Head o :
1. A= STl

!

4. TsgTadl

Options :

68634044697. 1
68634044698. 2
68634044699. 3
68634044700. 4

Question Number : 76 Question Id : 68634011320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is TRUE?

1. Pidgin’ 1s the term used for the languages which has been used by a community for a long time in a
contact situation.

| )

. 'Creole’ is the term used for a language that emerges in a conununicative situation between two
communities without a common language

3. The term Register’ is used to refer to the use of different varieties of a language by the same user in
different situations.

4. The term ' 1sogloss' 1s used to refer to a speech community that uses a uniform dialect.

Options :

68634044701. 1
68634044702. 2
68634044703. 3
68634044704. 4

Question Number : 76 Question Id : 68634011320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafafad ¥ T oH TSy Ia 7

1. TETSE 4T 92 3 W91 & forg wgerd €iell @ o [afl udh saey1 H od ¥0y & g i dl 9™
SR G H ol Sl 81
.@wmw%ﬁm%%ﬁ%ww%agaﬁ%ﬂmeﬁm
gldl g

 IfoRex Ue 39 YT & fog eia1 & od fafim sawursi & g vatedr g1 fodt umen & fafi
RG] &1 9T fegr ST gl

.'a@wqﬁﬁmww@?ﬂwrﬂmﬂmﬁ aTcl i THaM P daiid P & g fean
IR

[

L]

=S

Options :

68634044701. 1
68634044702. 2
68634044703. 3
68634044704. 4

Question Number : 77 Question Id : 68634011321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The traditional term for the study of language history is called.

1. Phonology

| B

. Philology

LF¥]

. Marphology
4. Tardition

Options :

68634044705. 1
68634044706. 2
68634044707. 3
68634044708. 4

Question Number : 77 Question Id : 68634011321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YTYI-STI6TE & S0 g WRIRIT U Heardl ¢ -
1. TRia9H

2. HIYTEMA

3, HTHINDT
4. 3A1g

Options :

68634044705. 1
68634044706. 2
68634044707. 3
68634044708. 4

Question Number : 78 Question Id : 68634011322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Traders and travelers need to communicate with people who speak a language unknown to them
................... may develop as a result

1. Jargon
2. Pidgin
3. Slang
4. Creole
Options :
68634044709. 1
68634044710. 2

68634044711. 3
68634044712. 4

Question Number : 78 Question Id : 68634011322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STl Ud giEa! foren! Ueh-ger &1 T To1 0 3Tl § &1 UH-g3N & TBI90 & Saeadhdl Isdl
&. ORUITEEY U 1 [dsE sIdT g |

gy
ot v

—

[

L]

, SHUHTHT
4. foparad



Options :

68634044709. 1
68634044710. 2
68634044711. 3
68634044712. 4

Question Number : 79 Question Id : 68634011323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following terms describes any regionally or socially definable human group which can be
identified by the use of shared spoken language.

1. Speech event

2. Speech act

L¥¥]

. Speech community
4. Speech processing

Options :

68634044713. 1
68634044714. 2
68634044715. 3
68634044716. 4

Question Number : 79 Question Id : 68634011323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044713. 1
68634044714. 2
68634044715. 3
68634044716. 4

Question Number : 80 Question Id : 68634011324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the work of William labor in chronological order

A Principles of Linguistics Change: Internal factors

B. Sociolinguistics patterns

C. The social stratification of English in New York City
D. Principle of Linguistic change social factor

choose the correct answer from the options given below
1.D.ACB
2LACBD
3. B.CAD

4.CB.AD

Options :

68634044717. 1
68634044718.2
68634044719. 3
68634044720. 4

Question Number : 80 Question Id : 68634011324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.D.ACB
2.ACBD
3.B.CAD

4 CB.AD

Options :

68634044717. 1
68634044718. 2
68634044719. 3
68634044720. 4

Question Number : 81 Question Id : 68634011325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which of the following sentences is 'That' functioning as a complementizer

1. That ship is really luxurious according to me

[

. I wanted to know if that product is available

L]

. The author hoped that the book would be a bestseller
4. Iia met that politician at the press conference

Options :

68634044721. 1

68634044722. 2

68634044723. 3
68634044724. 4

Question Number : 81 Question Id : 68634011325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[afefad {9 o/ § That' YR BT B PG T -

1. That ship is really luxurious according to me
2.1 wanted to know if that product is available
3. The author hoped that the book would be a bestseller
4. Jia met that politician at the press conference
Options :
68634044721. 1
68634044722. 2

68634044723.3
68634044724. 4

Question Number : 82 Question Id : 68634011326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following 1s not a dichotomy prpposed by Ferdinanad de Saussure?
1. Langue- parole
2. Analysis-synthesis
3. Synclrony-diachrony
4. Syntagmatic-paradigmatic
Options :

68634044725. 1
68634044726. 2



68634044727.3
68634044728. 4

Question Number : 82 Question Id : 68634011326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Langue- parole

2. analysis-synthesis

3. synclrony-diachrony

4. Syntagmatic-paradigmatic
Options :
68634044725. 1
68634044726. 2

68634044727. 3
68634044728. 4

Question Number : 83 Question Id : 68634011327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The conversational convention that a speaker should not lie or make unsupported claims is called

1. maxim of manner

[ )

. maxim of quantity
3. maxim of quality

4. maxim of relevance

Options :

68634044729. 1
68634044730. 2
68634044731. 3
68634044732. 4

Question Number : 83 Question Id : 68634011327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634044729. 1
68634044730. 2

68634044731. 3
68634044732. 4
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Question Number : 84 Question Id : 68634011328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A branch of linguistics which deals with similarity between languages, to establish classification or typology
of languages, regardless of history 1s called:

1. Computational linguistics

| )

. Cognative linguistics

Laa

. Typological linguistics
4. Neuro linguistics

Options :

68634044733. 1
68634044734. 2
68634044735. 3
68634044736. 4

Question Number : 84 Question Id : 68634011328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044733. 1
68634044734. 2
68634044735. 3
68634044736. 4

Question Number : 85 Question Id : 68634011329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following stages in the developmental order for morphological acquisition.

A. Case-by- case learning

B. Mastery of exceptions to the general rule
C. Learning the general rule

D. Overapplication of the general rule

choose the correct answer from the options given below
1.C.ABD
2.ACBD
3.CADB

4. ACDB

Options :

68634044737. 1
68634044738. 2
68634044739. 3
68634044740. 4

Question Number : 85 Question Id : 68634011329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. CABD

[

CACBD
3.CADB
4. A.CDB
Options :
68634044737. 1
68634044738. 2

68634044739. 3
68634044740. 4

Question Number : 86 Question Id : 68634011330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A branch of linguistics which studies the neurological bases of language development and use is called

1. Semantics

b2

. Semiotics
3. Neurolinguistics
4. Cultural studies

Options :

68634044741. 1
68634044742. 2
68634044743. 3
68634044744. 4

Question Number : 86 Question Id : 68634011330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044741. 1
68634044742. 2
68634044743. 3
68634044744. 4
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Question Number : 87 Question Id : 68634011331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A regionally or socially distinctive variety of a language is called?

1. Grammar

b2

. Dialect
3.NLP
4. Dictionarry

Options :

68634044745. 1
68634044746. 2
68634044747. 3
68634044748. 4

Question Number : 87 Question Id : 68634011331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044745 1
68634044746. 2
68634044747. 3
68634044748. 4

Question Number : 88 Question Id : 68634011332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A branch of linguistics which involves computational techniques for the analyses of linguistic and phonetic
problems. 1s called:

1. Socio-linguistics

| )

. Computational linguistics

Lag

. Computer aided design
4. Comprehension

Options :

68634044749. 1
68634044750. 2
68634044751. 3
68634044752. 4

Question Number : 88 Question Id : 68634011332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044749. 1
68634044750. 2
68634044751. 3
68634044752. 4

Question Number : 89 Question Id : 68634011333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Panini's grammar of Sanskrit discusses the concept of Exhaustivness. consistency and economy.

Statement II: Chomsky's theory of grammar discusses the concept of economy and recurssion

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634044753. 1
68634044754.2
68634044755. 3
68634044756. 4

Question Number : 89 Question Id : 68634011333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044753. 1
68634044754.2
68634044755. 3
68634044756. 4

Question Number : 90 Question Id : 68634011334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Sanskrit language belongs to the Indo- Aryan family of languages.

Statement II: Pali. Prakrit and Appbhranshas are developed from Sanskrit

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634044757. 1
68634044758. 2
68634044759. 3
68634044760. 4

Question Number : 90 Question Id : 68634011334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. YT 1ol 6. A DY 1704 &

4. BYT1TTEd, AT PUT I TR &

Options :

68634044757. 1
68634044758. 2
68634044759. 3
68634044760. 4

Question Number : 91 Question Id : 68634011335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The programming of computer to analyzes the structure of word and speech signals into Phones and Phonemes

A. Computational syntax and semantics

B. Computational morphology and semantics
C. Computational Phonetics and Phonology
D. Computational Semantics

choose the correct answer from the options given below
l.Band E
2.D
3.Band D

4. Aand E

Options :

68634044761. 1
68634044762. 2
68634044763. 3
68634044764. 4

Question Number : 91 Question Id : 68634011335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044761. 1
68634044762. 2
68634044763. 3
68634044764. 4

Question Number : 92 Question Id : 68634011336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: An inclussive education class should provide sign language interpreters and Braille bases
material for deaf and visually impaired learners

Reason R: No special material is required in the classroom for special population

In the light of the above statements. choose the correct answer from the options given below

1. Both A and R are true and R 1s the correct explanation of A

b2

. Both A and R are true and R 1s NOT the correct explanation of A
3. A is true but R is false

4, A is false but R is true

Options :

68634044765. 1
68634044766. 2
68634044767. 3
68634044768. 4

Question Number : 92 Question Id : 68634011336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044765. 1
68634044766. 2
68634044767. 3
68634044768. 4



Question Number : 93 Question Id : 68634011337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most translated work

A. Bible

B. Gita

C. Harry potter

D. Lord of the rigns
E. Goa father

choose the correct answer from the options given below
1.E.D, B only
2. Aonly
3. B only

4. E and C only

Options :

68634044769. 1
68634044770. 2
68634044771. 3
68634044772. 4

Question Number : 93 Question Id : 68634011337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. Had B
4. PIAE AR C
Options :

68634044769. 1
68634044770. 2



68634044771.3
68634044772. 4

Question Number : 94 Question Id : 68634011338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the followings are the work of Bhartrihari?

A. Nirukta

B. Vakyapadyam

C. Vairagyashatak

D. Sringarshatka

E. Saraswati kanthabharnam

choose the correct answer from the options given below
1. Aonly
2. B and C only
3.Band D only

4.B.C, and D only

Options :

68634044773. 1
68634044774. 2
68634044775. 3
68634044776. 4

Question Number : 94 Question Id : 68634011338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044773. 1
68634044774. 2
68634044775. 3
68634044776. 4

Question Number : 95 Question Id : 68634011339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the followings are Sanskrit Grammarians?

A. Anand Vardhana
B. Mamumata

C. Panini

D. Bhartrihari

choose the correct answer from the options given below:
1. Aand B only
2. Cand D only
3. Aonly

4. B and C only

Options :

68634044777. 1
68634044778. 2
68634044779. 3
68634044780. 4

Question Number : 95 Question Id : 68634011339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Pad A IR B
2. ®ad C 3IRD
3. Pad A
4. HIAB AR C

Options :

68634044777. 1

68634044778. 2

68634044779. 3
68634044780. 4

Question Number : 96 Question Id : 68634011340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following Books is written by H.A Gleason?
1. A course m Modern linguistic

2. Phonology: Theory and Analysis

3. Languages in India
4. An introduction to Descriptive linguistics

Options :

68634044781. 1
68634044782. 2
68634044783. 3
68634044784. 4

Question Number : 96 Question Id : 68634011340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634044781. 1

68634044782. 2

68634044783. 3
68634044784. 4

[ ]

L]

=S

Question Number : 97 Question Id : 68634011341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following books has been written by W.D. whitney?

1. Reading in linguistics

[ ]

. Fundamental of linguistics Analysis
3. Sanskrit Grammar
4. An introduction to Descriptive Linguistics
Options :
68634044785. 1
68634044786. 2

68634044787. 3
68634044788. 4

Question Number : 97 Question Id : 68634011341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634044785. 1
68634044786. 2
68634044787. 3
68634044788. 4

Question Number : 98 Question Id : 68634011342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following works is related to Sanskrit Grammatical tradition?
1. Ras Gangadhar
2. Kavyadarsha
3. Vakyapadyiam
4. Natyashastra
Options :
68634044789. 1
68634044790. 2

68634044791. 3
68634044792. 4

Question Number : 98 Question Id : 68634011342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. AIRE

Options :

68634044789. 1
68634044790. 2
68634044791. 3
68634044792. 4

Question Number : 99 Question Id : 68634011343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LIST II
A INirukta [. |George Greirson)
B. [Linguistic survey of Indial II. M B. Emeneau
C. |India as lingwistic Area | III. [Pannim
D. |Asthtadhvayi IV, |Yaska

Choose the correct answer from the options given below:

1. A-IV B-I. C-II, D-III

| ]

 A-LB-IILC-ILD-IV
3. A-IV.B-III.C-II.D-I
4. A-I1.B-1.C-IV.D-III

Options :

68634044793. 1
68634044794. 2
68634044795. 3
68634044796. 4

Question Number : 99 Question Id : 68634011343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. A-LB-IILC-IL.D-IV
3. A-IV.B-III.C-II.D-I
4. A-I1.B-1.C-IV.D-III

Options :

68634044793. 1
68634044794. 2
68634044795. 3
68634044796. 4



Question Number : 100 Question Id : 68634011344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In lus Seminal work, 'On Linguistic Aspect of Translation' Roman Jakobson talks about

A. Intralingual Translation
B. Interlingual Translation
C. Intersemiotic Translation
D. Interaudience Translation
E. Internet Translation

choose the correct answer from the options given below

1. A.B and C only

| )

. C only
3. AB and E only

4. A.C and E only

Options :

68634044797. 1
68634044798. 2
68634044799. 3
68634044800. 4

Question Number : 100 Question Id : 68634011344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 Hife® P "On linguistic aspects of translation”. P aY fergd aR § a1 $d o7
A, IS 3aTe
B. JRHTY® 3ars
C. aHihid® 3rdg
D. 3RI4IT a1

E. $¢¢¢ 3dle
e feu 7Y famed! # 9 Haifie Suged SR 9-Y
1. PAAAB R C
2. daa C
3.%ad AB 3R E
4.Pad AC 3R E

Options :
68634044797. 1
68634044798. 2



68634044799. 3
68634044800. 4



